V3 x VO x V27 x V15 x V20 x V21 & 7++3] 51d?
D 907 @ 2707 ® 810V7

@ 90 ® 270



2. E}nv\/_+2\/_—73‘ﬂ}§7ﬂ7414_}3&7/i%?

D V2 @ 242 ® 342 @ 442



3.  (V5+2v3)(2V5-3V3) & A4tstH?

O -8-15V3-4+15 @ -8-15V3+4+15
® -8+ V15 @ 8-15V3

® 8-15v3 4+ 415



®
1042 — 1
L



5.

(x=y+2)(x+y+2)5 WMt S8 7HF &

O {(x+y) -z} {(x+y) +2}
@ {(x=y) -z} {(x+y) -z}
® {x-(+2)} {x+ (-2}
@ {(x+2)-y}{(x+2)+y}
® {(x-2)-y}{(x-2)+y}



(x=[_])?

x2—2x—|—|:]

@ 2 3 3 @ 4 ® 5

@D 1



ol

I

23 2 =

BS54 VB3<x<

7.

@ 7 3 9 @ 10 ® 15

D 5



8. Ua H7A Felee BF 9 A7

(171
B7

VO, V2 + V3, 029, Vi9.6, V8, V144

@D 170 @ 270 3 370 @ 470 3 571



24 Qo FaElgel gt AEse

A5l HE9n. AEE FAHL
7FE WS-, o ® 47 BashEsk

® A% @ &9 3% ® T

@ <o) Az G Saz



17F3V5em ¢ 91715 9] 37} 15 V42r cm?®

u, o] ©7]%5] golg F5ta?

@ V42em
@ V52cm

S

3\/3 cm

o a0
® Y32

Q]
=






12, 206 +22x+ A = (4x+ B)(Cx+ 3) & ®l, ABC ] gto g oure
AL 12

@ 40 ? 60 A 70 @ 90 G 100



Y

£9



14. 3x*+ (3a+ 16)x - 6 & V5205t (x + b)(3x - 2) 7F . o,
& a+b o g2

@D -3 2 -1 3 0 @ 2 3B 3



15. a>0 % o, ok AktolA &2 AL % 12H? (FF 27H)

@ V64a2 - Va2 =Ta

@ /(11a)2 + /(-11a)2 =0
® -V169a2 - \/(-3a)2 = -10a
@ (-V3a)? - (- V7a)? = 10a
® (=vV22)2 + (-Va?) =a




16.

0<x<2< o,

VEP - VP 4 R e R

@ x

@ 3x+4

@ 4-x
® 4-3x



® V8<3

@ -V3>-5
3B 3 < V10

O V2<2

@ V01<0.1



18. AFZENA V30 = 5477 & W, va = 0.05477 & WE3tE=a
= totkd?

o

@D 3000 @ 300 3 3 @ 0.3 3 0.003



19. (x+3)(3x—4) =3x>+ Ax+BY W, A- B2 & F51H?

D 12 ® 14 A 15 @ 16 B 17



20. A3 7152 v 29 2ol & §o] Aot (3x+ 1)m gAY
g o] g 7FR 9] Zolk 2ym(3x > y) E011, A= 2] Aol 2ym
oA M2 e TE7] 2 shylrh. 2] Hol=?

(3z+)m. 2y

4 ~—
1 -
1 e ~N— ~N— ~N—
(3 T+ ].) mf|-«- -« "~
\
\\ 2 y

@© 9x? + 1+ 4y? + 6x + 4y + 12xy(m?)
@ 9x? + 1+ 4y? + 6x — 4y — 12xy(m?)
® 9x% 4 6x + 1 — 4y*(m?)
@ 6x2 +6x+ 1 —4y*(m?)

® 9x? + 1 + 4y*(m?)



